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tUnit4 Developing an Understanding of Slope, Y-Intercept & Functions o
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1 Which graph represents y as a function of x?
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8 What is the slope of the line that
Passes through the points M (-3,5)
and N (1,8)?
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9 What are the slope and the y-intercept of the graph of the linear function shown on

the grid?
4
s}
s
3 ]
-y
: . 2
=260+ -
EEEE L 321 T 12 Y488y s s™]¥
[
(2 =2)T T
5
‘;r

9 an Te) 3
M % A Siope=4, y-intercept = 6
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L. 2% B Siope=_4, y-Intercept =—-1.5
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VA Slope_—q, y-intercept = -1,5

8% D Slope = %, y-intercept == -6




